
Risba št. 11: KRILO NA POLNI KROG 

MERE ½ mere ¼ mere 

PaO 68   

KoO /   

KoG /   

DM 60   

  IZRAČUN: 
 
 

𝑟 =  
𝑃𝑎𝑂˙/. 2

2 𝜋
=  

68 ˙/. 2

6,28
= 10,5 

 
 

 
 

 

 

 

 

Risba št. 12: KRILO NA POLOVIČNI KROG 

MERE ½ mere ¼ mere 

PaO 68   

KoO /   

KoG /   

DM 60   

  IZRAČUN: 
 

𝑟 =  
𝑃𝑎𝑂˙/. 2

𝜋
=  

68 ˙/. 2

3,14
= 19,4 

 
 

 

  

   Risba št. 11 1.K 2024/25 

Risba št. 12 1.K 2024/25 



Risba št. 13: KRILO NA ČETRTINSKI KROG 

MERE ½ mere ¼ mere 

PaO 68   

KoO    

KoG    

DM 52   

  IZRAČUN: 
 
 
 

𝑟 =  
2 ∙ (𝑃𝑎𝑂˙/. 2)

𝜋
=  

2 ∙ (68 ˙/. 2)

3,14
= 42 

 
 

 

 

 

 

 

 

 

Risba št. 13 1.K 2024/25 

 


